









































































































I L
X 6 0 x 6K16 Xb

4 6

hone

NO 1 44 3

Aline with a hole Tyzy
t3

D X 4 1 113 2 322 3 2
X3 2 113 2

y 3X 2
hole l 5 1 113 21

xint Ox 2 Zo Ymyt.gsL2 10 2

whenthedegree ofthenumerator thedegreealthe denominator

2J I 3 5
taigieremmmm

0A y X 5












































































































I l O b remainder
ignore it

0A y X I

xx 4T
ignoreremainder

0A y X

x 3

3 I O l

I

0A y X 3








 Homework 12-11







1 411 410

try y O none t x.us yff7xo.xCxyXxt4
Nhl 2 g Io

I 2,0 O f


